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Mr. Svarc's Missing $ Problem...REALLY???

Two men were selling Atlantic Salmon Flies: one man sold 3 flies per
dollar and the other man sold 2 flies per dollar.

One day they were both away so they each left 30 flies with a friend. To
simplify the reckoning, the friend decided to sell 5 flies for 2 dollars. They
sold them all and took in 24 dollars.

When it came to dividing up the sales between the owners...a problem
arose. The one who had 30 flies at 3 for a dollar wanted $10. The other
who had 30 flies at 2 for a dollar wanted $15. In total this made $25.

The friend only made $24 which means that they are a dollar short.
WHAT HAPPENED TO THE MISSING DOLLAR???
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Old MacDonald's Last Wishes...

Old MacDonald had 17 cows. He died. His will said...
The first daughter Malia gets 1/2 of the cows.
The second daughter Lainey gets 1/3 of the cows.

The third daughter Janna gets 1/9 of the cows.
The daughters could not figure out how to divide the cows.
Mr. Hallihan wanted to help so he loaned a cow fo them.
Then the first daughter took 1/2 of 18 cows = 9 cows.
The second daughter took 1/3 of 18 or 6 cows.
The third daughter took 1/9 of 18 or 2 cows.

That makes 9 + 6 + 2 = 17 cows. So Mr. Hallihan took his cow back home.

Explain???
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8. Use{nductive reasoniz to make a conjecture

abofit eacinumber trick below. Then use M
dfductive reasoning to prove your conjecture.
) Choose a number. Add 3. Multiply by 2.

Add 4. Divide by 2. Subtract the number K—” 5 D%

you started with. What is the result?
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9. Prove that the sum of four consecutive natural [+24 5 ¥ >/
numbers is always even. [ab((4/2+ 13
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10. Consider the following statement: The square of

the sum of two positive integers is greater than

the sum of the squares of the same two integers.
Test this statement inductively with three

examples, and then prove it deductively.
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Quiz...Inductive/Deductive Reasoning

When finished...work on logic problems!
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